
LE	
  EQUAZIONI	
  2	
  

	
  Equazioni	
  
equivalen6	
  

Due	
  o	
  più	
  equazioni	
  sono	
  equivalen6	
  se	
  
l’incognita	
  ha	
  la	
  stessa	
  soluzione.	
  X	
  –	
  2	
  =	
  3	
  

X	
  =	
  5	
   X	
  =	
  5	
  

X	
  	
  2	
  =	
  10	
  

	
  Primo	
  principio	
  
di	
  equivalenza	
  

Se	
  si	
  addiziona	
  o	
  si	
  soDrae	
  lo	
  stesso	
  
numero	
  o	
  la	
  stessa	
  espressione	
  le;erale	
  
a	
  entrambi	
  i	
  membri	
  di	
  un’equazione,	
  si	
  
o?ene	
  un’equazione	
  equivalente	
  a	
  
quella	
  di	
  partenza.	
  

2x	
  –	
  4	
  =	
  6	
  
2x	
  –	
  4	
  +	
  2	
  =	
  6	
  +	
  2	
  
2x	
  –	
  4	
  –	
  3	
  =	
  6	
  –	
  3	
  
2x	
  –	
  4	
  +	
  2x	
  =	
  6	
  +	
  2x	
  
2x	
  –	
  4	
  –	
  x	
  =	
  6	
  –	
  x	
  

X	
  =	
  5	
  
X	
  =	
  5	
  
X	
  =	
  5	
  
X	
  =	
  5	
  
X	
  =	
  5	
  

	
  Regola	
  del	
  
trasporto	
  

Se	
  si	
  trasporta	
  un	
  termine	
  da	
  un	
  membro	
  all’altro	
  
di	
  un’equazione	
  cambiandogli	
  il	
  segno,	
  si	
  o?ene	
  
un’equazione	
  equivalente	
  a	
  quella	
  di	
  partenza.	
  
È	
  importante	
  perché	
  così	
  possiamo	
  avere	
  tu;e	
  
incognite	
  da	
  una	
  parte	
  e	
  termini	
  noD	
  dall’altra.	
  

	
  	
  	
  	
  	
  	
  	
  	
  5x	
  –	
  5	
  =	
  4x	
  –	
  3	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  5x	
  –	
  4x	
  =	
  5	
  –	
  3	
  	
  

X	
  +	
  7	
  =	
  11	
  
X	
  +	
  7	
  –	
  7	
  	
  =	
  11	
  –	
  7	
  	
  

X	
  =	
  11	
  –	
  7	
  	
  	
  

X	
  +	
  7	
  =	
  11	
  –	
  7	
  

	
  Regola	
  di	
  
cancellazione	
  

Se	
  in	
  un’equazione	
  si	
  cancellano	
  i	
  termini	
  uguali	
  
che	
  compaiono	
  in	
  entrambi	
  i	
  membri,	
  si	
  o?ene	
  
un’equazione	
  equivalente	
  a	
  quella	
  di	
  partenza.	
  

X	
  +	
  3	
  =	
  10	
  +	
  3	
  
X	
  +	
  3	
  –	
  3	
  =	
  10	
  +	
  3	
  –	
  3	
  

X	
  =	
  10	
  

	
  Secondo	
  
principio	
  di	
  
equivalenza	
  

Se	
  si	
  mol6plicano	
  o	
  si	
  dividono	
  
entrambi	
  i	
  membri	
  di	
  un’equazione	
  per	
  
uno	
  stesso	
  numero	
  diverso	
  da	
  0,	
  si	
  
o?ene	
  un’equazione	
  equivalente	
  a	
  
quella	
  di	
  partenza.	
  

15	
  x	
  =	
  30	
  
15	
  x	
  3=	
  30	
  3	
  
15x	
  :	
  5	
  =	
  30	
  :	
  5	
  	
  	
  	
  	
  	
  	
  	
  	
  

X	
  =	
  2	
  
X	
  =	
  2	
  
X	
  =	
  2	
  

	
  Risoluzione	
  di	
  
un’equazione	
  di	
  
primo	
  grado	
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